



n^{th} FINITE INTEGRALS INVOLVING PRODUCT OF MULTIVARIABLE JACOBI POLYNOMIAL AND H-FUNCTION OF SEVERAL VARIABLES

Kirti Verma, Rajesh Shrivastava and A. K. Ronghe*

Dept. of mathematics, Govt. Science and Commerce College of Benazir, Bhopal, (M.P.), India.

(Received on: 09-06-14; Revised & Accepted on: 28-06-14)

ABSTRACT

In the present paper few finite integrals involving products of multivariable Jacobi polynomial and H function of several variables of generalized arguments have been evaluated. These integrals have been utilized to established the expansion formula for $H[Z_1, Z_2, \dots, Z_r]$ function in series involving product of multivariable Jacobi polynomials since H function of multivariable quite general function in nature. On specializing the parameters of the function involved in results many new as well as known relations may be obtained as particular case.

Key words: Multivariable Jacobi Polynomials.

1. INTRODUCTION

The classical Jacobi polynomial for one variable may be defined as [1; equation (1), p. 254]

$$P_n^{(\alpha, \beta)}(x) = \frac{(1 + \alpha)_n}{n!} {}_2F_1 \left(-n; 1 + \alpha + \beta + n; 1 + \alpha; \frac{1-x}{2} \right) \tag{1.11}$$

Two variable, three variable and multivariable Jacobi polynomial defined by Shrivastava [2, equ. (1.3) (1.5) (1.7) pg 159-161] in the following manner

$$P_n^{(\alpha_1, \beta_1; \alpha_2, \beta_2)}(x_1, x_2) = \frac{(1 + \alpha_1)_n (1 + \alpha_2)_n}{(n!)^2} {}_3F_2 \left(-n; 1 + \alpha_2 + \beta_2 + n; 1 + \alpha_1 + \beta_1 + n; 1 + \alpha_2; 1 + \alpha_1; \frac{1-x_2}{2}, \frac{1-x_1}{2} \right) \tag{1.12}$$

$$P_n^{(\alpha_1, \beta_1; \alpha_2, \beta_2; \alpha_3, \beta_3)}(x_1, x_2, x_3) = \frac{(1 + \alpha_1)_n (1 + \alpha_2)_n (1 + \alpha_3)_n}{(n!)^2} F^{(3)} \left(-n; -; -; -; 1 + \alpha_3 + \beta_3 + n; 1 + \alpha_2 + \beta_2 + n; 1 + \alpha_1 + \beta_1 + n; -; -; -; 1 + \alpha_3; 1 + \alpha_2; 1 + \alpha_1; \left(\frac{1-x_3}{2} \right) \left(\frac{1-x_2}{2} \right) \left(\frac{1-x_1}{2} \right) \right) \tag{1.13}$$

$$P_n^{(\alpha_1, \beta_1; \dots; \alpha_p, \beta_p)}(x_1, \dots, x_p) = \prod_{j=1}^p \frac{(1 + \alpha_j)_n}{(n!)^p} F_{0; 1; \dots; 1}^{1; 1; \dots; 1} \left(-n; 1 + \alpha_p + \beta_p + n; \dots; 1 + \alpha_1 + \beta_1 + n; 1 + \alpha_p; \dots; 1 + \alpha_1; \frac{1-x_p}{2}, \frac{1-x_{p-1}}{2}, \dots, \frac{1-x_1}{2} \right) \tag{1.14}$$

***Corresponding author: A. K. Ronghe*, E-mail: dr.ashokrao@yahoo.in**

Function F in R.H.S. of equation (1.12) (1.13) (1.14) represents Apples function for two variable, Hypergeometric function for three variables and Kampe de fernet for multivariable.

$$\begin{aligned}
 H[Z_1, Z_2, \dots, Z_r] &= H_{A, B; \{A_i, B_i\}}^{O, N; \{M_i, N_i\}} \begin{bmatrix} Z_1 \\ \cdot \\ \cdot \\ Z_r \end{bmatrix} \begin{bmatrix} S; T \\ \cdot \\ \cdot \\ S'; T' \end{bmatrix} \\
 &= H_{A, B; \{A_1, B_1; A_2, B_2; \dots; A_r, B_r\}}^{O, N; \{M_1, N_1; M_2, N_2; \dots; M_r, N_r\}} \begin{bmatrix} Z_1 \\ \cdot \\ \cdot \\ Z_r \end{bmatrix} \begin{bmatrix} (a_j; \alpha_j^{(i)}; \dots; \alpha_j^{(r)})_{1,A} (C_j^{(i)}, E_j^{(i)})_{1,A_r} \\ \cdot \\ \cdot \\ (b_j; \beta_j^{(i)}; \dots; \beta_j^{(r)})_{1,B} (d_j^{(i)}, \delta_j^{(i)})_{1,B_r} \end{bmatrix} \\
 &= \frac{1}{(2\pi\omega)^r} \int_{L_1} \dots \int_{L_r} \theta(S_1 \dots S_r) \prod_{i=1}^r \{ \phi_i(S_i) Z_i^{S_i} dS_i \} \tag{1.21}
 \end{aligned}$$

where $\omega = \sqrt{-1}$

$$S = (a_j, \alpha_j^{(i)} \dots \alpha_j^{(r)})_{1,A} \tag{1.22}$$

$$T = (C_j^{(i)}, E_j^{(i)})_{1,A_r} \tag{1.24}$$

$$S' = (b_j, \beta_j^{(i)} \dots \beta_j^{(r)})_{1,B} \tag{1.25}$$

$$T' = (d_j^{(i)}, \delta_j^{(i)})_{1,B_r} \tag{1.26}$$

$$\begin{aligned}
 \theta(S_1 \dots S_r) &= \frac{\prod_{j=1}^N \Gamma\left(1 - a_j + \sum_{i=1}^r \alpha_j S_i\right)}{\prod_{j=N+1}^A \Gamma\left(\alpha_j - \sum_{i=1}^r \alpha_i^{(i)} S_i\right) \prod_{j=1}^B \Gamma\left(1 - b_j + \sum_{i=1}^r \beta_j S_i\right)} \\
 \phi_i(S_i) &= \frac{\prod_{j=1}^{M_i} \Gamma(d_j^{(i)} - \delta_j^{(i)} S_i) \prod_{j=1}^{N_i} \Gamma(1 - C_j^{(i)} + E_j^{(i)} S_i)}{\prod_{j=M_i+1}^{B_i} \Gamma(1 - d_j^{(i)} - \delta_j^{(i)} S_i) \prod_{j=N+1}^{A_i} \Gamma(C_j^{(i)} - E_j^{(i)} S_i)} \tag{1.27}
 \end{aligned}$$

i denotes the no of dashes for example $b_i^{(i)} = b'$, $b_i^{(2)} = b''$...etc.

For the expansion of multivariable H function and restriction of parameters see the research paper of Saxena, Shrivastava and Panda [3, pg. 271, equ.(4.1)]. In this research paper we will use the following result [4, pg 58]

$$\int_{-1}^1 \int_{-1}^1 \dots \int_{-1}^1 \prod_{p=1}^r \left[(x_p)^{\lambda_p} (1 - x_p)^{\alpha_p} (1 + x_p)^{\sigma_p} \right] P_n^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) dx_1 \dots dx_r$$

$$\begin{aligned}
 &= \frac{1}{(n!)^r} \prod_{p=1}^r \left[\frac{(-1)^{np} 2^{\sigma_p + \alpha_p + \frac{1}{r}} \Gamma(\alpha_p + n + 1) \Gamma(\sigma_p - \beta_p + 1) \Gamma(\sigma_p + 1)}{\Gamma(\sigma_p - \beta_p - n + 1) \Gamma(\sigma_p + \alpha_p + n + 2)} \right] \\
 & {}_3F_2 \left[\begin{matrix} \prod_{p=1}^r (-\lambda_p); \prod_{p=1}^r (\sigma_p - \beta_p + 1); \prod_{p=1}^r (\sigma_p + 1) \\ \prod_{p=1}^r (\sigma_p - \beta_p - n + 1); \prod_{p=1}^r (\sigma_p + \alpha_p + n + 2) \end{matrix} ; 2^r \right] \\
 & \int_{-1}^1 \int_{-1}^1 \dots \int_{-1}^1 \prod_{p=1}^r [(x_p)^{\lambda_p} (1-x_p)^{\rho_p} (1+x_p)^{\beta_p}] P_n^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) dx_1 \dots dx_r
 \end{aligned} \tag{1.28}$$

Third Integral

$$\begin{aligned}
 & \int_{-1}^1 \int_{-1}^1 \dots \int_{-1}^1 \left\{ \prod_{p=1}^r [(x_p)^{\lambda_p} (1-x_p)^{\rho_p} (1+x_p)^{\beta_p}] \right\} \\
 & P_n^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) H[Z_1 x_1^{\mu_1} (1-x_1)^{\delta_1} \dots Z_r x_r^{\mu_r} (1-x_r)^{\delta_r}] dx_1 \dots dx_r \\
 &= \frac{1}{(n!)^r} \prod_{p=1}^r \left[\frac{(-1)^{np} 2^{\rho_p + \beta_p + \frac{1}{r}} \Gamma(\beta_p + n + 1) \Gamma(\rho_p - \beta_p + 1) \Gamma(\rho_p + 1)}{\Gamma(\rho_p - \alpha_p - n + 1) \Gamma(\rho_p + \beta_p + n + 2)} \right] \\
 & {}_3F_2 \left[\begin{matrix} \prod_{p=1}^r (-\lambda_p); \prod_{p=1}^r (\rho_p - \beta_p + 1); \prod_{p=1}^r (\rho_p + 1) \\ \prod_{p=1}^r (\rho_p - \alpha_p - n + 1); \prod_{p=1}^r (\rho_p + \beta_p + n + 2) \end{matrix} ; 2^r \right]
 \end{aligned} \tag{1.29}$$

2. In this section we evaluate multivariable H function consisting four product of Jacobi function

We will use this integral in the expansion of H [Z₁.....Z_r]

$$\begin{aligned}
 & \int_{-1}^1 \int_{-1}^1 \dots \int_{-1}^1 \left\{ \prod_{p=1}^r [(x_p)^{\lambda_p} (1-x_p)^{\alpha_p} (1+x_p)^{\sigma_p}] \right\} \\
 & P_n^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) H \left[Z_1 \left(\frac{1+x_1}{x_1} \right)^{\mu_1} \dots Z_r \left(\frac{1+x_r}{x_r} \right)^{\mu_r} \right] dx_1 \dots dx_r \\
 &= \left\{ \prod_{p=1}^r \left[(-1)^{np} 2^{\sigma_p + \alpha_p + \frac{1}{r}} \Gamma(\alpha_p + n + 1) \left(\sum_{k_p=0}^{\infty} \frac{2^{k_p}}{(k_p)!} \right) \right] \right\} H_{A, B; A_1+3, B_1+3; \dots; A_r+3, B_r+3}^{O, N; m_1, n_1+3; m_2, n_2+3; \dots; m_r, n_r+3} \\
 & \left[\begin{matrix} Z_1 & 2^{\mu_1} & \prod_{p=1}^r (\lambda_p + 1 - k_p; \mu_p), \prod_{p=1}^r (\beta_p - \sigma_p - k_p; \mu_p), \prod_{p=1}^r (-\sigma_p - k_p; \mu_p) \\ \cdot & \cdot & \\ \cdot & \cdot & \\ Z_r & 2^{\mu_r} & \prod_{p=1}^r (\lambda_p + 1; \mu_p), \prod_{p=1}^r (\beta_p - \sigma_p + n - k_p; \mu_p), \prod_{p=1}^r (-1 - \sigma_p - \alpha_p - n - k_p; \mu_p) \end{matrix} \right]
 \end{aligned} \tag{2.1}$$

Integral (2.1) is valid under the restriction of

$$\operatorname{Re}(\lambda_i) > -1,$$

$$\operatorname{Re}(\alpha_i) > -1,$$

$$|\arg Z_i| > \frac{\Omega \pi_i}{2},$$

$$\operatorname{Re}(\sigma_i + \mu_j \xi_j) > 0,$$

$$\operatorname{Re}(\lambda_i - \mu_j \xi_j) > 0$$

$$\text{where } \xi_j = \sum_{l=1}^r \min_{1 \leq m_r} \left(\operatorname{Re} \left(\frac{d_j^r}{\delta_j^r} \right) \right) \quad \forall i, j = 1 \dots r$$

where all $\mu_1, \mu_2, \dots, \mu_r$ are positive and are not equal to zero.

Second integral

$$\begin{aligned} & \int_{-1}^1 \int_{-1}^1 \dots \int_{-1}^1 \left\{ \prod_{p=1}^r \left[(x_p)^{\lambda_p} (1-x_p)^{\alpha_p} (1+x_p)^{\sigma_p} \right] \right\} \\ & P_n^{(\alpha_1, \beta_1, \dots, \alpha_r, \beta_r)}(x_1 \dots x_r) H \left[Z_1 x_r (1+x_1)^{\mu_1} \dots Z_r x_r (1+x_r)^{\mu_r} \right] dx_1 \dots dx_r \\ & = \frac{1}{(n!)^r} \left\{ \prod_{p=1}^r \left[(-1)^{n_p} 2^{\sigma_p + \alpha_p + \frac{1}{r}} (\alpha_p + n + 1) \left(\sum_{k_p=0}^{\infty} \frac{2^{k_p}}{(k_p)!} \right) \right] \right\} H_{A, B; A_1+3, B_1+3; \dots; A_r+3, B_r+3}^{O, N; m_1, n_1+3; m_2, n_2+3; \dots; m_r, n_r+3} \\ & \left[\begin{array}{c} Z_1 \quad 2^{\delta_1} \\ \cdot \quad \cdot \\ \cdot \quad \cdot \\ Z_r \quad 2^{\delta_r} \end{array} \left| \begin{array}{c} \prod_{p=1}^r (-\lambda_p + k_p; \delta_p), \prod_{p=1}^r (\beta_p - \sigma_p - k_p; \delta_p), \prod_{p=1}^r (-\sigma_p - k_p; \delta_p) \\ \prod_{p=1}^r (\beta_p + n - \sigma_p - k_p; \delta_p), \prod_{p=1}^r (-\lambda_p; \mu_p), \prod_{p=1}^r (-\sigma_p - \alpha_p - n - k_p - 1; \delta_p) \end{array} \right. \right] \end{aligned} \tag{2.2}$$

Integral (2.2) is valid under the restriction of

$$\operatorname{Re}(\alpha_i) > 1,$$

$$|\arg Z_i| > \frac{\Omega \pi_i}{2},$$

$$\operatorname{Re}(\lambda_i - \mu_j \xi_j) > 0,$$

$$\operatorname{Re}(\sigma_i + \mu_j \xi_j) > 0,$$

$$\text{where } \xi_j = \sum_{l=1}^r \min_{1 \leq m_r} \left(\operatorname{Re} \left(\frac{d_j^r}{\delta_j^r} \right) \right) \quad \forall i, j = 1 \dots r$$

where all $\delta_1, \delta_2, \dots, \delta_r$ are positive and are not equal to zero.

$$= \frac{1}{(n!)^r} \left\{ \prod_{p=1}^r \left[(-1)^{np} 2^{\rho_p + \beta_p + \frac{1}{r}} \Gamma(\beta_p + n + 1) \left(\sum_{k_p=0}^{\infty} \frac{2^{k_p}}{(k_p)!} \right) \right] \right\} H_{A, B; A_1+3, B_1+3; \dots; A_r+3, B_r+3}^{O, N; m_1, n_1+3; m_2, n_2+3; \dots; m_r, n_r+3}$$

$$\left[\begin{array}{l} Z_1 \quad 2^{\delta_1} \\ \cdot \\ \cdot \\ Z_r \quad 2^{\delta_r} \end{array} \left| \begin{array}{l} \prod_{p=1}^r (-\lambda_p + k_p; \mu_p), \prod_{p=1}^r (\beta_p - \sigma_p - k_p; \delta_p), \prod_{p=1}^r (-\rho_p - k_p; \delta_p) \\ \prod_{p=1}^r (-\lambda_p; \mu_p), \prod_{p=1}^r (-\rho_p + \alpha_p + n - k_p; \delta_p), \prod_{p=1}^r (-\rho_p - \beta_p - n - k_p - 1; \rho_p) \end{array} \right. \right]$$

(2.3)

Integral (2.3) is valid under the following restrictions of:

$$\operatorname{Re}(\lambda_i) > -1,$$

$$\operatorname{Re}(\beta_i) > -1,$$

$$|\arg Z_i| > \frac{\Omega \pi_i}{2}$$

$$\operatorname{Re}(\rho_i + \delta_j, \xi_j) > 0,$$

$$\operatorname{Re}(\lambda_i - \mu_j, \xi_j) > 0$$

$$\text{where } \xi_j = \sum_{i=1}^r \min_{1 \leq m_r} \left(\operatorname{Re} \left(\frac{d_j^r}{\delta_j^r} \right) \right) \quad \forall i, j = 1 \dots r$$

where all $\mu_1, \mu_2, \dots, \mu_r$ and $\delta_1, \delta_2, \dots, \delta_r$ are positive and are not equal to zero.

Fourth Integral

$$\int_{-1}^1 \int_{-1}^1 \dots \int_{-1}^1 \left\{ \prod_{p=1}^r \left[(x_p)^{\lambda_p} (1-x_p)^{\rho_p} (1+x_p)^{\beta_p} \right] \right\}$$

$$P_n^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) H \left[Z_1 x_1^{\mu_1} \left(\frac{1-x_1}{x_1} \right)^{\delta_1} \dots Z_r x_r^{\mu_r} \left(\frac{1-x_r}{x_r} \right)^{\delta_r} \right] dx_1 \dots dx_r$$

$$= \frac{1}{(n!)^r} \left\{ \prod_{p=1}^r \left[(-1)^{np} 2^{\rho_p + \beta_p + \frac{1}{r}} \Gamma(\beta_p + n + 1) \left(\sum_{k_p=0}^{\infty} \frac{2^{k_p}}{(k_p)!} \right) \right] \right\} H_{A, B; A_1+3, B_1+3; \dots; A_r+3, B_r+3}^{O, N; m_1, n_1+3; m_2, n_2+3; \dots; m_r, n_r+3}$$

$$\left[\begin{array}{l} Z_1 \quad 2^{\mu_1} \\ \cdot \\ \cdot \\ Z_r \quad 2^{\mu_r} \end{array} \left| \begin{array}{l} \prod_{p=1}^r (\lambda_p - k_p; \mu_p), \prod_{p=1}^r (\beta_p - \rho_p - k_p; \mu_p), \prod_{p=1}^r (-\rho_p - k_p; \mu_p) \\ \prod_{p=1}^r (-\lambda_p - 1; \mu_p), \prod_{p=1}^r (-\rho_p + n + \alpha_p - k_p; \mu_p), \prod_{p=1}^r (-\rho_p - \beta_p - n - k_p - 1; \mu_p) \end{array} \right. \right]$$

(2.4)

Integral (2.4) is valid under the following restrictions of:

$$\operatorname{Re}(\lambda_i) > 1,$$

$$\operatorname{Re}(\beta_i) > -1,$$

$$|\arg Z_i| > \frac{\Omega \pi_i}{2}$$

$$\operatorname{Re}(\rho_i + \mu_j \xi_j) > 0,$$

$$\operatorname{Re}(\lambda_i - \mu_j \xi_j) > 0$$

$$\text{where } \xi_j = \sum_{i=1}^r \min_{1 \leq m_r} \left(\operatorname{Re} \left(\frac{d_j^r}{\delta_j^r} \right) \right) \quad \forall i, j = 1 \dots r$$

where all $\mu_1, \mu_2, \dots, \mu_r$ are positive and are not equal to zero.

Proof: To establish (2.1), expressing the multivariable H function on L.H.S. as Mellin Barnes Contour Integral (1.21) and then change the order of integration. This change will be valid under the given restriction and this change will be absolutely convergent. We get the following result

$$\frac{1}{(2\pi\omega)^r} \int_{L_1} \int_{L_2} \dots \int_{L_r} \frac{\theta(S_1 \dots S_r)}{(n!)^r} \left\{ \prod_{i=1}^r [\phi(S_i) Z_i] dS_i \right\} \\ \left\{ \int_{-1}^1 \int_{-1}^1 \dots \int_{-1}^1 \prod_{i=1}^r [(x_p)^{\lambda_p - \mu_p S_p} \cdot (1 - x_p)^{\alpha_p} \cdot (1 + x_p)^{\sigma_p + \mu_p S_p}] P_n^{\alpha_i, \beta_i; \dots; \alpha_r, \beta_r} (x_1 \dots x_r) dx_1 \dots dx_r \right\}$$

Evaluate the inner integral with the help of (1.28) we get the following result

$$\frac{1}{(2\pi\omega)^r} \int_{L_1} \int_{L_2} \dots \int_{L_r} \frac{\theta(S_1 \dots S_r)}{(n!)^r} \left\{ \prod_{p=1}^r [\phi(S_p) Z_p^{S_p} dS_p] \right\} \\ \left\{ \prod_{p=1}^r \left[\frac{(-1)^{n_p} 2^{\sigma_p + \mu_p S_p + \frac{1}{r}} \Gamma(\sigma_p + n + 1) \Gamma(\sigma_p + \mu_p S_p - \beta_p + 1) \Gamma(\sigma_p + \mu_p S_p + 1)}{\Gamma(\sigma_p + \mu_p S_p - \beta_p - n + 1) \Gamma(\sigma_p + \mu_p S_p + \alpha_p + n + 2)} \right] \right\} \\ {}_3F_2 \left[\begin{matrix} \prod_{p=1}^r (-\lambda_p + \mu_p S_p); \prod_{p=1}^r (\sigma_p + \mu_p S_p - \beta_p + 1); \prod_{p=1}^r (\sigma_p + \mu_p S_p + 1); \\ \prod_{p=1}^r (\sigma_p + \mu_p S_p - \beta_p - n + 1); \prod_{p=1}^r (\sigma_p + \mu_p S_p + \alpha_p + n + 2); 2^r \end{matrix} \right]$$

Now we represent the hypergeometric function into series and addition and integration [4, p 176 (75)] which is valid under the given restriction (2.1). At last using the definition of multivariable H which is defined in (1.21) we get the result (2.1).

EXPANSION

The objective of this section is to apply the result of (2.1) to (2.4) then to express it in form H $[Z_1 \dots Z_r]$ and established four expansion formulas

First expansion

$$\prod_{p=1}^r [(x_p)^{\lambda_p} \cdot (1 - x_p)^{\sigma_p}] H \left[Z_1 \left(\frac{1+x_1}{x_1} \right)^{\mu_1} \dots Z_r \left(\frac{1+x_r}{x_r} \right)^{\mu_r} \right] \\ = \left\{ \prod_{p=1}^r \left[2^{\sigma_p} \left(\sum_{k_p=0}^{\infty} \frac{2^{k_p}}{(k_p)!} \right) \right] \sum_{l=0}^{\infty} (1 + \alpha_p + \beta_p + l) (1 + \alpha_p + \beta_p + 2l) (-1)^{l_p} \right\} \\ P_l^{\alpha_i, \beta_i; \dots; \alpha_r, \beta_r} (x_1 \dots x_r) H_{A, B; A_i+3, B_i+3; \dots; A_r+3, B_r+3}^{O, N; m_1, n_1+3; m_2, n_2+3; \dots; m_r, n_r+3}$$

$$\left[\begin{array}{c} Z_1 \quad 2^{\delta_1} \\ \cdot \quad \cdot \\ \cdot \quad \cdot \\ Z_r \quad 2^{\delta_r} \end{array} \left| \begin{array}{c} \prod_{p=1}^r (1 + \lambda_p - k_p; \mu_p), \prod_{p=1}^r (-k_p - \alpha_p; \mu_p), \prod_{p=1}^r (\sigma_p + \beta_p - k_p; \mu_p) \\ \prod_{p=1}^r (1 + \lambda_p; \mu_p), \prod_{p=1}^r (-1 - \sigma_p - k_p; \mu_p), \prod_{p=1}^r (1 - \sigma_p - k_p; \mu_p) \end{array} \right. \right] \quad (3.1)$$

Expansion (3.1) which is valid under the given restriction of (2.1) is also satisfied.

Second expansion

$$\prod_{p=1}^r [(x_p)^{\lambda_p} \cdot (1+x_p)^{\sigma_p}] H [Z_1 x_1^{\mu_1} (1+x_1)^{\delta_1} \dots Z_r x_r^{\mu_r} (1+x_r)^{\delta_r}]$$

$$= \left\{ \prod_{p=1}^r \left[2^{\sigma_p} \left(\sum_{k_p=0}^{\infty} \frac{2^{k_p}}{(k_p)!} \right) (-1)^{l_p} \right] \sum_{l=0}^{\infty} (1 + \alpha_p + \beta_p + l)(1 + \alpha_p + \beta_p + 2l) \right\}$$

$$P_l^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) H_{A, B; A_1+3, B_1+3; \dots; A_r+3, B_r+3}^{O, N; m_1, n_1+3; m_2, n_2+3; \dots; m_r, n_r+3}$$

$$\left[\begin{array}{c} Z_1 \quad 2^{\delta_1} \\ \cdot \quad \cdot \\ \cdot \quad \cdot \\ Z_r \quad 2^{\delta_r} \end{array} \left| \begin{array}{c} \prod_{p=1}^r (-\lambda_p; \mu_p), \prod_{p=1}^r (-\sigma_p - k_p; \delta_p), \prod_{p=1}^r (-k_p - \sigma_p - \beta_p; \delta_p) \\ \prod_{p=1}^r (k_p - \lambda_p; \mu_p), \prod_{p=1}^r (1 - \sigma_p - k_p; \delta_p), \prod_{p=1}^r (1 - l - 2 - \rho_p; \delta_p) \end{array} \right. \right] \quad (3.2)$$

Expansion (3.2) which is valid under the given restriction of (2.2) is also satisfied.

Third expansion

$$\prod_{p=1}^r [(x_p)^{\lambda_p} \cdot (1-x_p)^{\rho_p}] H [Z_1 x_1^{\mu_1} (1-x_1)^{\delta_1} \dots Z_r x_r^{\mu_r} (1-x_r)^{\delta_r}]$$

$$= \left\{ \prod_{p=1}^r \left[2^{\rho_p} \left(\sum_{k_p=0}^{\infty} \frac{2^{k_p}}{(k_p)!} \right) (-1)^{l_p} \right] \sum_{l=0}^{\infty} (1 + \alpha_p + \beta_p + l)(1 + \alpha_p + \beta_p + 2l) \right\}$$

$$P_l^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) H_{A, B; A_1+3, B_1+3; \dots; A_r+3, B_r+3}^{O, N; m_1, n_1+3; m_2, n_2+3; \dots; m_r, n_r+3} \quad (3.3)$$

$$\left[\begin{array}{c} Z_1 \quad 2^{\delta_1} \\ \cdot \quad \cdot \\ \cdot \quad \cdot \\ Z_r \quad 2^{\delta_r} \end{array} \left| \begin{array}{c} \prod_{p=1}^r (-\lambda_p; \mu_p), \prod_{p=1}^r (k_p - \rho_p; \delta_p), \prod_{p=1}^r (-k_p - \rho_p - l; \delta_p) \\ \prod_{p=1}^r (k_p - \lambda_p; \mu_p), \prod_{p=1}^r (l - \rho_p - k_p; \delta_p), \prod_{p=1}^r (1 - \alpha_p - \beta_p - l - k_p - \rho_p; \delta_p) \end{array} \right. \right]$$

Expansion (3.3) which is valid under the given restriction of (2.3) is also satisfied.

Fourth expansion

$$\prod_{p=1}^r \left[(x_p)^{\lambda_p} \cdot (1-x_p)^{\rho_p} \right] H \left[Z_1 \left(\frac{1-x_1}{x_1} \right)^{\mu_1} \dots Z_r \left(\frac{1-x_r}{x_r} \right)^{\mu_r} \right]$$

$$= \left\{ \prod_{p=1}^r \left[2^{\rho_p} \left(\sum_{k_p=0}^{\infty} \frac{2^{k_p}}{(k_p)!} \right) (-1)^{l_p} \sum_{l=0}^{\infty} (1+\alpha_p+\beta_p+l)(1+\alpha_p+\beta_p+2l) \right] \right\}$$

$$P_l^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) H_{A, B; A_1+3, B_1+3; \dots; A_r+3, B_r+3}^{O, N; m_1, n_1+3; m_2, n_2+3; \dots; m_r, n_r+3}$$

$$\left[\begin{array}{c} Z_1 \quad 2^{\delta_1} \\ \cdot \\ \cdot \\ Z_r \quad 2^{\delta_r} \end{array} \left| \begin{array}{c} \prod_{p=1}^r (1+\lambda_p-k_p; \mu_p), \prod_{p=1}^r (\rho_p-k_p; \mu_p), \prod_{p=1}^r (\rho_p+\alpha_p-k_p; \mu_p) \\ \prod_{p=1}^r (1+\lambda_p; \mu_p), \prod_{p=1}^r (1-k_p-\rho_p; \mu_p), \prod_{p=1}^r (1-\rho_p-k_p-\beta_p-l; \mu_p) \end{array} \right. \right] \quad (3.4)$$

Proof: To establish (3.1) let

$$\prod_{p=1}^r \left[(x_p)^{\lambda_p} \cdot (1-x_p)^{\rho_p} \right] H \left[Z_1 \left(\frac{1+x_1}{x_1} \right)^{\mu_1} \dots Z_r \left(\frac{1+x_r}{x_r} \right)^{\mu_r} \right] = \sum_{l=0}^{\infty} m_l P_l^{(\alpha_1, \beta_1; \dots; \alpha_r, \beta_r)}(x_1 \dots x_r) \quad (3.5)$$

where m_l is a constant. For finding this we multiply $\prod_{p=1}^r \left[(1-x_p)^{\alpha_p} \cdot (1+x_p)^{\beta_p} \right]$ on both sides of the equation (3.5)

and then integrate in the limit -1 to $+1$. Lastly in the left side result (2.1) is recalculated and on right side orthogonal property of Jacobi polynomial is applied to get the desired result [5, pg 285(5) and (9)]

REFERENCES

1. Rainville, E.D.: Special functions, McMillan, NY (1967).
2. Shrivastava, H.S.P: Journal of Indian Adv. Mathematics, vol. 25, No.1 (2003) pp.159-168.
3. Shrivastava, H.M. and Panda, R.: J. Reino. Angew. Math. 283/284, (1976) pp. 265-274.
4. Carslaw, H.S.: Introduction to theory of Fourier Series and Integrals, Dober Publications, New York, (1950).
5. Erdelyi, A.,: Tables of Integrals Transforms, part 2, Ms Graw Hill, New York, (1954).

Source of Support: Nil, Conflict of interest: None Declared

[Copy right © 2014 This is an Open Access article distributed under the terms of the International Research Journal of Pure Algebra (IRJPA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]